ELEG403 COMMUNICATIONS SYSTEMS ENGINEERING

ASSIGNMENT #5 due Monday October 13

1. Haykin Problem 4.19
2. Haykin Problem 4.21
3. Haykin Problem 4.23

4, Haykin Problam 7.1

5. Bandlimited white noise N(t) has spectral density S,,{f) = 10® V3/Hz over the
frequency range -100 kHz to 100 kHz.
a) What is the rms value of the noise?
b) Find Ryt). At what spacings are n(t) and n{t+t) uncomrelated?

6. The multitone modulating signal m(t) = K{Zcos(w,,1) + cos(2m.t) + 3 cos(5w,.1)) is the
input to an AM system.
a) Find K so that m(t) is properly normalized (i.e, to prevent overmodulation).
b) Plot the frequency spectrum of the transmitied signal s{t).
c) Calculate PP . 8Nd P /Pior (P represents power.)
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ELEG403 COMMUNICATIONS SYSTEMS ENGINEERING
ASSIGNMENT #6 due Monday October 20

1. Haykin Problem 7.13
Haykin Problem 7.14
Haykin Problem 7.18

W N

Haykin Problem 7.30

5. Haykin Problem 7.38
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